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QUESTION 1

Consider the following statement:
for ($count=0; $count
A.12345

B.510 1520 25

C.1234

D.01234

Correct Answer: D

QUESTION 2

Consider the following code:

%hashA = ("alpha”, "beta", "gamma”, "alpha");
%hashA = reverse(%hashA);

print $hashA{"alpha};

What is the result of executing this code?

A. The code outputs the following: alpha

B. The code outputs the following: beta

C. The code outputs the following: gamma

D. The code fails at line 3.

Correct Answer: C

QUESTION 3

Consider the following program code:
%ocolor = (sun => yellow, apple => red);
reverse(%color);

@colorKeys = sort(keys(%color));
foreach(@colorKeys)

{
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print($color{$_} . );

}

What is the result of executing this program code?

A. The code will output the following: apple sun

B. The code will output the following: sun apple

C. The code will output the following: red yellow

D. The code will output the following: apple red sun yellow

Correct Answer: C

QUESTION 4

Which one of the following statements opens a file for appending?
A. open(PASSWD, ">/etc/passwd");

B. open(PASSWD ">/etc/passwd");

C. open(PASSWD, ">>/etc/passwd");

D. open(PASSWD "+>/etc/passwd");

Correct Answer: C

QUESTION 5

Which statement will print the capital attribute of the $kansas object?
A. print ("capital"=>$kansas);

B. print {$kansas}=>(capital);

C. print (capital){"capital"};

Correct Answer: D
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